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BC-06
December - Examination 2016
B. Com. Pt. | Examination
Business Environment
Paper - BC-06
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 udd
Gus & MGATTAR AT & IR QIS

Section - A 10x2=20
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

gus - 3’
(3fer ofg ITRIT 99 T)
Ader : Tt weAl & IR ST 31T 310 TR DI WATTHAR Th 916G,
T Iy AT ferpad 30 orsgl H uRAfg Hifviel e ueT
2 3fpl Bl gl

1) (i) Whatis economic environment?
aTffep graTaRer T & ?
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(i) Write two objectives of fiscal policy.

ISTepI T Hifed g1 2o folkau|

(iii) Explain any two objectives of economic planning.

anffes PRI & fegl Q1 Seeat @1 aufe HifvTl

(iv) Why five year plans are important?

Uadg JoFN YA T g P

(v) What is industrial sickness?

Jitenfie Bwurar w7 g ?

(vi) What is LPG?
Tt Y S, T g ?

(vii) What is disinvestment?

fafaer wm 82

(viii) Explain the concept of a foreign direct investment.
faQeft veger faer Y HepeuT B AT

(ix) Explain any two reasons of inflation?
5T FHIT &b PIS G BRI ST

(x) What do you mean by balance of payment?

PIAH Aol § 37T FIT AT ¢ 2

Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 10 marks.
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(Tvs - 9)
(oTg TR UeA)

fAder: gl IR Al & IR ST 3T 3 IR Dl 3ferhad

2)

200 grect o AT HITTI Tdep 5199 10 3ihi T Bl

Critically examine the achievements of Indian economic
planning.

TR Mffer PRI &6 IuSfeRl Y ST D AHIET
IR

Put a light on the causes of poverty and unemployment.

TR H TR g SRISFIRT b RN IR Yh1e STferd |

Discuss the causes of unfavourable balance of payments in
developing nations.

fraehicr <o & ufipet I e & RO Dl TS |

Write a note on impact of WTO on India.
fa9g IR FeT BT TRT TR TG IR T oig foIRad |

State the problems in way of industrial development in India.

aRd H 3ienfies g & qrf & sFarel GEeTal o AHssY |

Explain the factors affecting business environment.

TIATRID ITATERUT BT THIIT PR-dTel Tchi bl IqSE DI |

Write a note on "Problems of Inflation in India".

"IRT | JI-FHIRT B FERT R B oG faRa|

Write a note on disinvestment of public enterprises in India.

TR H o1l SUhAl & AT R Th o~g faRau|
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Section-C 2X20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your
answer maximum up to 500 words. Each question carries
20 marks.
(Tvs - W)
(Sref ST ¥9d)

fAder : fpgl S U9l & IR SINITI 3T U IR DI 31ferepad
500 grec o IREANTT BT 81 UAb U9 20 3l & gl

10) Define monetary policy. Explain in detail the objectives and
importance of monetary policy for a nation.
Hifges ey 1 aRwiva HIvRN fohedt o1 & forg wifge Ay &
S$9T T Hg<d Pl faeIRydd quiF BRI |

11) Critically examine the new industrial policy of India.

URT &I A8 e i &1 et e g8y Hhifo|

12) "Globalization is a mixed boon". Interpret this statement.

"' JodtepRuT U T aReM 177 39 HH i fadaHT HIR|

13) Write short notes on following:
(i) Types of export-import policy
(ii) International business environment

fr=ferRad wR fewaforat forRa|
1) frRafg-ema i & geR
§) RIS e qrTeRol
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